Stat 2470, 3/12 Discussion Questions Name

Instructions: Attempt to answer these questions by reading the textbook or with online resources
before coming to class on the date above.

1. What is the formula for the test statistic for a test on mean when ¢ is known?
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2. What s the difference between a one-tailea and a two-tailed test?
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3. How can we conduct the z-test in our calculator?

SIAT=TESTS - ZTEST (oo TT-5%)

4. Describe the sequence of steps to be used when testing a hypothesis around a parameter?
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5. What s the formula for calculating #? How does it differ for one-tailed and two-tailed tests?
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6. What is the formula for calculating a sample size necessary for a specified value of @ and a
specified value of 1?7
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7. How do large sample tests with s differ from tests with o is known?
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8. Why should we generally use a T-test over a Z-test when ¢ is not known?
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9. What is the main difficulty when calculating sample sizes using t-tests rather than z-tests?
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10. What are the steps for doing hypothesis tests on proportions and the relevant formulas?
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11. Why do we need np, = 10 and n(1 — py) = 107
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13. What argthe form mas for the sample size for a specific § anAhP?)}”
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14. When sample sizes are small, what distribution must we resort to in order to calculate 8 and
hypothesis tests in general?
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15. How do we conduct hypothesis tests on proportions in our calculator?
STAT = TESTS> 1PRoe ZTEST (in A T80
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16. What is the P-value of a hypothesis test?
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17. When we need to calculate P-values by hahd why do we need to multiply two-tailed tests by 2?
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18. How do we calculate P- values for Z and T tE‘!StS from the test statlstlc in our calculator?
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19. Why do we set the significance level before we find the P-value and not afterwards?
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20. How do we know which test to use? Z-Test? T-Test? Proportion Test?
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21. How do we choose significance levels?
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22. How do'we know which claim should be H;, and which should be H,?
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23, What is the difference between statistical significance and practical significance?
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